Py +y?) = (F2y)x® + (2y)y?
x3(x2y) + (¥2y)y?
= (x3x%)y + x*(yy?)




@ —xy® ® 12y

(@)—x5y4

@ xy°

@) —x4y5

xy(-xy)? = 22y (-xy%) = —x°y*
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(2x3 +3x% +5) + (x2 +2x —
3x2 +5) + (x?
2x - 1)

> =
> =
> e (&%
() =2x-1
> =g o
D (UHA) = 4x+4

(2x® +3x%2 +5
)= (x*+2x-1
)(2x-1)+4x+4
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(4xt =5x3 4+ 3x2 —dx+ 1)+ (x> —x+ 1)

@ 4x2-3x+2 @4x2—x—2 ® 4x2-2x+1

@ —4x?—x-2 ® —4x®+x-2

Lo Ax? —x—2, UHA] C —5x+3
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e 5 (x—y)2(x+y)2 = AAT 2127
D xt -yt @ x*-y°
@x4 —2x%y? 4 y* @ x*—x?y? +y*

® x*—4x?y? +y*

(x=y)2(x+y)? ={(x-y)(x+y))?
— (X2 _y2)2

= xt - 2x%y% 4yt
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:a2—i-|:|-|-b2-|-2ca+2bc—i—c2
=a® 4+ b% + 2 + 2ab + 2bc + 2ca
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8. (a-b-c)?E A A7

@® a? + b? + % + 2ab + 2bc + 2ca
@ a?® + b? + % — 2ab — 2bc — 2ca
® a? - b* - c? - 2ab - 2bc - 2ca

@a2+b2+02—2ab+2bc—2ca

® a? - b? -2 + 2ab — 2bc — 2ca

(a=b-c)?
= a® + (=b)? + (=¢)? + 2a(=b) + 2(=b)(~c) + 2(-c)a
= a® + b? + ¢ — 2ab + 2bc — 2ca




